
 
 
 
 di6f ufpFkflnsf 

ufpF sfo{kflnsfsf] sfof{no 
aemf¨ lhNnf, & g+= k|b]z, g]kfn  

 

 

 

cfly{s jif{ @)&$÷)&% 

    sf] ah]6 sfo{qmd 

 

 

 

k|sfzs 
di6f ufpFkflnsf 

ufpF sfo{kflnsfsf] sfof{no 
eft]vf]nf, aemf¨ lhNnf 

& g+= k|b]z, g]kfn 



di6f ufpFkflnsf, aemf Ë  

 cf=j= @)&$ – &% sf] ah]6  

kFF'lhut ah]6 dfq ?= xhf/df       hDdf hg;+VofM 14951 
 

d'Vo ljifo lzif{s pklzif{sx?  

!= cfly{s ljsf; !=!= s[lif !=@= pBf]u tyf jfl0fHo !=#= ko{6g !=$= ;xsf/L  !=%= ljQLo ;]]]jf 
!=^= cGo -pNn]v 
ug'{xf]; =====_  

8333.41 6808.595 1224.815 300       
 

@= ;fdflhs ljsf; @=!= lzIff @=@= :jf:Yo 
@=#= vfg]kfgL tyf 
;/;kmfO{ 

@=$= ;+:s[[lt k|j4g 
@=%= n}+lus ;dfgtf tyf 
;fdflhs ;dfj]zLs/0f 

]@=^= cGo -ufpF ;fIf/tf 
sfo{qmd ;dk'/s_  

35387.41 16250 2098 10680 6359.41     
 

#= k"jf{wf/ ljsf; #=!= ;8s tyf k"n #=@= l;+rfO{ 
#=#= ejg tyf 
;x/L ljsf; 

#=$= hnljB't tyf 
a}slNks phf{ 

#=%= ;+rf/ 
#=^= cGo -;fgf l;+rfO{ 
kl/of[hgf ;dk'/s_  

21052.146 2116.327 6927.696 6008.123 6000     
 

$= jftfj/0f tyf  
ljkb Joj:yfkg 

$=!= jg tyf e'–;+/If0f $=@= hnfwf/ ;+/If0f 
$=#= aftfa/0f 
;+/If0f tyf 
hnafo' kl/jt{g 

$=$= kmf]x/d}nf 
Joj:yfkg 

$=%= hn pTkGg k|sf]k 
lgoGq0f,ljkb Joj:yfkg, 
af?0f oGq ;+rfng 

$=^= cGo -kfgL 
kl/of]hgf ;dk'/s_  

5388.551 5388.551           
 

%= ;+:yfut ljsf; tyf 
;]jf k|jfx  

%=!= dfgj ;+;fwg ljsf; 
%=@= ;+:yfut Ifdtf 
ljsf; tyf ;+:yfut 
k"jf{wf/ 

%=#= gful/s 
j8fkq tyf 6f]sg 
k|0ffnL 

%=$= ;]jf k|jfxsf 
dfkb08 lgwf{/0f 

%=%= ;]jf k|jfxdf 
ljB'tLo ;'rgf k|ljwLsf] 
k|of]u 

%=^= cGo -pNn]v 
ug'{xf]; =====_  

3722.1   3722.1         
 



^= ljQLo Joj:yfkg / 
;'zf;g 

^=!= n]vf+sg, /fh:j 
kl/rfng, ljQLo cg'zf;g, 
ljQLo hf]lvd Go'gLs/0f 

^=@= ;fj{hlgs ;'g'jfO{, 
;fj{hlgs kl/If0f 

^=#= cfGtl/s 
n]vf kl/If0f tyf 
cfGtl/s lgoGq0f 
k|0ffnL 

^=$= clGtdn]vf 
kl/If0f tyf j]?h' 
km5f}{6 

^=%= ;'rgf tyf ;+rf/ 
Joj:yfkg, 

^=^= cGo -z'';f;g 
kl/of]hgf ;dk'/s_  

0             
 

73883.617             
 

u0fgf / ljZn]if0f cEof; 
      

!= k|To]s d'Vo lzif{s cGt{ut pklzif{sx?df ljlgof]hLt hDdf ah]6 /sd / s'n k'FhLut ah]6   

        

d'Vo lzif{s != cfly{s ljsf; @= ;fdflhs ljsf; #= k"jf{wf/ ljsf; 
$= jftfj/0f tyf  
ljkb Joj:yfkg 

%= ;+:yfut ljsf; tyf 
;]jf k|jfx  

^= ljQLo Joj:yfkg / 
;'zf;g 

s'n k"lhut ah]6 
xhf/df 

hDdf lhlgof]lht /sd 
xhf/df  

8333.41 35387.41 21052.146 5388.551 3722.1 0 73883.617

@= hDdf ah]6df ljleGg d'Vo lzif{sdf jh]6 ljlgof]hgsf] k|ltzt     

        

d'Vo lzif{s != cfly{s ljsf; @= ;fdflhs ljsf; #= k"jf{wf/ ljsf; 
$= jftfj/0f tyf  
ljkb Joj:yfkg 

%= ;+:yfut ljsf; tyf 
;]jf k|jfx  

^= ljQLo Joj:yfkg / 
;'zf;g 

s'n k"lhut ah]6 
k|ltztdf

total budget 11.28 47.90 28.49 7.29 5.04 0.00 100.00

 
 
 



#= k|To]s d'Vo lzif{sdf ljlgof]lht ah]6 jf6 pklzif{sx?df ah]6 ljlgof]hgsf] k|ltzt 
 
 
 

d'Vo lzif{s pklzif{sx?df ljlgof]lht ah]6sf] k|ltzt 

!= cfly{s ljsf; 
!=!= s[lif !=@= pBf]u tyf jfl0fHo !=#= ko{6g !=$= ;xsf/L  !=%= ljQLo ;]]]jf !=^= cGo  

81.70 14.70 3.60 0.00 0.00 0.00 

@= ;fdflhs ljsf; 
@=!= lzIff @=@= :jf:Yo 

@=#= vfg]kfgL tyf 
;/;kmfO{ 

@=$= ;+:s[[lt k|j4g 
@=%= n}+lus ;dfgtf tyf 
;fdflhs ;dfj]zLs/0f 

]@=^= cGo -ufpF ;fIf/tf 
sfo{qmd ;dk'/s_ 

45.92 5.93 30.18 17.97 0.00 0.00 

#= k"jf{wf/ ljsf; 
#=!= ;8s tyf k"n #=@= l;+rfO{ 

#=#= ejg tyf 
;x/L ljsf; 

#=$= hnljB't tyf 
a}slNks phf{ 

#=%= ;+rf/ 
#=^= cGo -;fgf l;+rfO{ 
kl/of[hgf ;dk'/s_ 

10.05 32.91 28.54 28.50 0.00 0.00 

$= jftfj/0f tyf  
ljkb Joj:yfkg 

$=!= jg tyf e'–;+/If0f $=@= hnfwf/ ;+/If0f 
$=#= aftfa/0f 
;+/If0f tyf 
hnafo' kl/jt{g 

$=$= kmf]x/d}nf 
Joj:yfkg 

$=%= hn pTkGg k|sf]k 
lgoGq0f,ljkb Joj:yfkg, 
af?0f oGq ;+rfng 

$=^= cGo -kfgL 
kl/of]hgf ;dk'/s_ 

100.00 0.00 0.00 0.00 0.00 0.00 

%= ;+:yfut ljsf; tyf 
;]jf k|jfx  

%=!= dfgj ;+;fwg ljsf; 
%=@= ;+:yfut Ifdtf 
ljsf; tyf ;+:yfut 
k"jf{wf/ 

%=#= gful/s 
j8fkq tyf 6f]sg 
k|0ffnL 

%=$= ;]jf k|jfxsf 
dfkb08 lgwf{/0f 

%=%= ;]jf k|jfxdf 
ljB'tLo ;'rgf k|ljwLsf] 
k|of]u 

%=^= cGo  

0.00 100.00 0.00 0.00 0.00 0.00 



^= ljQLo Joj:yfkg / 
;'zf;g 

^=!= n]vf+sg, /fh:j 
kl/rfng, ljQLo cg'zf;g, 
ljQLo hf]lvd Go'gLs/0f 

^=@= ;fj{hlgs ;'g'jfO{, 
;fj{hlgs kl/If0f 

^=#= cfGtl/s 
n]vf kl/If0f tyf 
cfGtl/s lgoGq0f 
k|0ffnL 

^=$= clGtdn]vf 
kl/If0f tyf j]?h' 
km5f}{6 

^=%= ;'rgf tyf ;+rf/ 
Joj:yfkg, 

^=^= cGo -z'';f;g 
kl/of]hgf ;dk'/s_ 

0.00 0.00 0.00 0.00 0.00 0.00 

$= cfly{s ljsf;sf] t'ngfdf ;fdflhs ljsf;df ljlgof]hLt ah]6 -sd jf a9L /sd tyf k|ltztdf_   

        

d'Vo lzif{s ljlgof]lht ah]6 ? xhf/df  ljlgof]lht k|ltzt km/s s}lkmot 
 

cfly{s ljsf; 8333.41 11.28 
36.62 

cfly{s ljsf;df ljlgof]hg ul/Psf] eGbf ;fdflhs ljsf;df ljlgof]hg 
ul/Psf] ah]6 #^=^@ k|ltztn] a9L 

 
;fdflhs ljsf; 35387.47 47.90 

 

        
%= d'Vo lzif{s cg';f/sf] hDdf ah]6 /sd -xhf/df_      

        
d'Vo lzif{s cg';f/sf] hDdf ah]6 /sd -xhf/df_ 

 

cfly{s ljsf; 8333.41 

;fdflhs ljsf; 35387.41 

k"jf{wf/ ljsf; 21052.146 

jftfj/0f tyf  ljkb 
Joj:yfkg 

5388.551 

;+:yfut ljsf; tyf 
;]jf k|jfx  

3722.1 

8333.41

35387.41

21052.146

5388.551

3722.1
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cfly{s ljsf;

;fdflhs ljsf;

k"jf{wf/ ljsf;

jftfj/0f tyf  ljkb Joj:yfkg

;+:yfut ljsf; tyf ;]jf k|jfx cfly{s ljsf;

;fdflhs ljsf;

k"jf{wf/ ljsf;

jftfj/0f tyf  ljkb 
Joj:yfkg



ljQLo Joj:yfkg / 
;'zf;g 

  

  

  

  

  
^= ;fdflhs ljsf; cGt{ut ljleGg pklzif{sx?df ljlgof]hLt ah]6 kfO{ rf6{df    

  

 

 
 

     

lzIff 16250 
      

:jf:Yo 2098 
      

vfg]kfgL tyf ;/;kmfO{ 10680 
      

;+:s[[lt k|j4g 6359.41 
      

        

        

        

        

        

        
 
 
 
 
 

       

46%

6%

30%

18%

lzIff

:jf:Yo

vfg]kfgL tyf 
;/;kmfO{



 

&= ufpFkflnsfn] ;+o'Qm ?kdf 5'6\ofPsf] s'n /sd       

        
]@=^= ;dk'/s sf]if 2500 

      
#=^= e" ;+/If0f 400 

      
;8s lgdf{0f 24627.86 

      
kz';]jf tkm{ 1496.19 

      
s[lif{ tkm{ 2327 

      
sG6]Gh]G;L /sd 5538.664 

      
hDdf  36889.714 

      
*= s'n ah]6 tyf laleGg d'Vo lzif{sdf ljlgof]lht ul/Psf] /sd     

        

d'Vo lzif{s != cfly{s ljsf; @= ;fdflhs ljsf; #= k"jf{wf/ ljsf; 
$= jftfj/0f tyf  
ljkb Joj:yfkg 

%= ;+:yfut ljsf; tyf 
;]jf k|jfx  

^= ljQLo 
Joj:yfkg / 
;'zf;g 

s'n k"lhut ah]6 
xhf/df  

hDdf ljlgof]lht /sd 
xhf/df  

12156.529 35387.41 45680.006 5788.551 3722.1 8038.664 110773.26 

k|lt JolQm ah]6 
xhf/df  

0.81 2.37 3.06 0.39 0.25 0.54 7.41 

k|lt JolQm ah]6 ?  813.09 2366.89 3055.31 387.17 248.95 537.67 7409.09 


